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The function g: [a, a] - R. g(x)
The maximum possible value of a is
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Harry is a soccer player who practises penalty kicks many times each day.

Each time Harry takes a penalty kick, the probability that he scores a goal is 0.7, independent of any other
penalty kick

One day Hary took 20 penalty kicks
Given that he scored at least 12 goals, the probability that Harry scored exactly 15 goals is closest to
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For events 4 and B, Pr(4 m B) =p, Pr(4'n B) = P~ andPJ(AhB =
If 4 and B are independent, then the value of p is




